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CHESS.

(To Correspondents.)

C. J. I, IlameroN.—~Thanks for theexplanation. The
zatue, however, pussesses scareely interest enough for our
7ages.

Juvests—In opening a game, your first object should
o to make a way for your pleces to vome out, that you
may post thert advintageously, and have them in readi-
ness both to attack and acfend.

Aur.—We are sorry that we cannot make use of your
exceadingly pretty little four-move problem, as it admits
of & very counuou-placo sotution in three.

Solutions to I’roblew No. 20, by Amy, C.J. H, Hamil-
ton, J. 11 Ty Lenvoxville, C.E, and J. B., are correct.

Solutions to Enizma in our last by the above, and R, G,
Cobourg, und Evans, are correct.

SOLUTION TO PROBLEM No. XX.

Dluck. Wiite.
1. Kt takes K Kt gch)‘ I takes Kt.
2, Kt takes K R I* (ch). B takes Kt.

<. Q¢ to K Kt 2d (ch). L mates.

PROBLEM No. XXI.
By Stamma.
BLACK.
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White to play and mate in ten moves.
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ExiaMas.
No. 55. By M. D’ Oreille.
Wintr.~K at Q R sq; Qat K B 4th: Rat
KKt 5th; Rat Q 4th; PsatQ 3d & Q Kt 4th.
Brack.—K at Q B Gth; Qat KR 6th; R at
K3d; Rat Q Kt Gth; B at Q 4th.
White to play and mate in three moves.

No. 56. By A. Anderssen.

Wiire.—KatQ R sq; Qat K 2d; BatK
Gth; P3at K 6th, Q 4th and 6th, Q B 5th, and
QR 4th. .

Brack.—K at QB 3d; Qat K R Sth; Rat
QKt2d; Bat Q Kt sq; Kts at K sq and Q Kt
Sth; Pat QB 2d.

hite to play and mate in three moves.

No. 67. DBy Mr. 8. Angas,
Wiite—Kat QB 7th; R at Q B 5q; Bat

KKt 4th; Ktat Q3d; Put KB 2d,

Brack.—K at Q 4th; P at Q 5th.
White to play and mate in three moves,
No. 68. By the Suame.
Wiute.—Kat Q 2d; Rat K B 5th; Ktat K

Sth; Ktat QR 8d; Psat K Kt3d, & KB 4th,

Brack.—K at Q 5th; P at Q B 3d.
White to play and mate in five moves.
No. 59. DBy the Sume.
Wite.—~K at Q B 2d; Q atherKt3d; R at

K 7th; Rat QB 7th; Bat Q B 8th.

Brack.—K at Q Kt 3d; Qather R 6th; R

at QR sq; Rat QR 4th; Bat KR 4th; Ktat
K sq; Psat Q 3d, Q B 4th, and Q Kt 4th.

CHESS IN ENGLAXD.
GAME No. I,
The following finc game is one of a match re-
cently played between two German players of
some celebrity in the Chess world:

White (Herr J.),
1. Pto K 4th.
Kt to K B 3d.
. Ptc QB 3d
. Qto QR 4th,
5. P takes P,
6. Bto QB 4th,
7. P to Q Kt 4th.
8. P to Q Kt 5th

W CI D

Black (Herr Z.).
P to K 4th,
Kt to Q B 3d.
P to Q 4th.
Qto Q 3d.
Q takes .
Q to Q 3d. Y
B to Q 24.
P to K 5th.

9. Kt to KKt 5th (2). Kt to K 4th,

10. Kt takes K P.
11. Castles.

12, P to K B 4th.
13. Q takes Kt.
14. P to Q 4th.
15. R to Ksq (¢).

16. Q to Q Kt 3d (d).

17. BtoQR3d.
18. B takes B.
19. B takes Kt P,
20. R takes R.
21. P takes Kt.
22, Kto B 24.
23. K to K 3d.
24, B to Q 4th.
25. B to K 5th.
26. Q takes B,
87. K to K 4th.
28. K to Q 4th,
29, Q to R 5th.
30. Qtakes R P.

Q to K Kt 3d.
Pto KR 4th (2).
Kt takes B.

Q to Q Kt 3d (ch).
B takes Kt P.
Castles.

R to K sq.

Kt to K BB 3d.

Kt takes Kt.

Kt to Q B 4th (e).
R takes R.

R to K 8th (ch).
R to B Sth (ch).
Q takes P (ch).
Q to K 24 (ch).
Q to R 5th (f).

Q to B 7th (ch).
Q takes P (ch).

P toQ B3d.

P to Q Kt 3d.
Black announced mate

in four moves (g).
Ndles.

(a) It would be stronger play to take Kt with I, and
upon Black replying with B, takes ', White would move
Q to Q Kt 3d, &c., having & superior game.

(b) It is obvious thiat Black could not take the Kt with-

losing bis Queen,

(c) A Leautiful coup de ressource to avold theloss of the
exchange. Black cannot take the Queen without belng

mated in twomores

(d) White did not venture to capture K B, on ac-
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